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Sub-Section Id : 34058088

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3405805641 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For the undirected graph, 1 —2,2— 3,3 — 1,3 — 4,4 — 1, the edge count
s

Options :

-2

34058022561. *

Lad

34058022562. *

34058022563, % 4

L

34058022564. ¥

Question Number : 2 Question Id : 3405805642 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the group (G, *), where G=R —(0)anda * b =?,va,bar£—(0}.

Then the solution of the equation 2 * x =5 * 10+ 3 * (5x) 1s X =

Options :

34058022565. ¢ -0

34058022566, ¥ —40



50
34058022567.

34058022568, # 40

Question Number : 3 Question Id : 3405805643 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Ifa,=n* +a,,, forn=1,2,3..... witha,=0, thena,=kn(n+1) 2n + 1),
where k=
Options:
1

,.,
34058022569. = 12

1
L, 6
34058022570. ¥

1
34058022571. = .

2
34058022572. %

Question Number : 4 Question Id : 3405805644 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



[ T 2 =%]
. -1 0 -1].
The rank of the matrix . 1 15
| —1-2 -3 |
Options :
34058022573, % 1
2

34058022574. #

ik

34058022575. ¢

34058022576. ¥ 4

Question Number : 5 Question Id : 3405805645 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of solutions of the system: X +y+z=0.x-y+z=-2. 2x+y+2z=-1.
X+2y+z=11s

Options :

—

34058022577. #

-2

34058022578. #

I'JJ

34058022579. #

34058022580. ¥



Question Number : 6 Question Id : 3405805646 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of independent rows in the matrix

fﬁ 4 —ZH\‘
1 2 =l
3 I 2
2—=3 3 is
P & =]
b _/

Options :

34058022581, % 1

)

34058022582. ¢

I'JJ

34058022583. *

34058022584. # 4

Question Number : 7 Question Id : 3405805647 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. cos(2x)—1
i, ———— =
x0T X
Options :

34058022585, % 1

34058022586. * -1



34058022587, #

34058022588, ¢ —F

Question Number : 8 Question Id : 3405805648 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
. e 7 v . . £
The function f(X) = (X — X")e ™ aftains its maximum at X =

Options :

L]
+
h

34058022589, % 2

5
34058022590. ¢ 2

34058022591. = N

34058022592. =

Question Number : 9 Question Id : 3405805649 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The median of the data 25. 35. 10. 17. 29. 14. 21.
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i
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=
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Options :

fad
[a—

34058022593. #

34058022594, % 30

34058022595, ¥ 29

34058022596, % 28

Question Number : 10 Question Id : 3405805650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Two fair dice are thrown. Then the probability that both the faces show
different members, 13

Options :

o | Ln

34058022597. ¥

W2

34058022598. #

~ | >

34058022599. #

1
34058022600. % 7
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Question Number : 11 Question Id : 3405805651 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What 1s the largest 16-bit binary value that can be represented as an unsigned number

Options :

~15
34058022601, *= =

16
34058022602, % 2
215 _q
34058022603. # <
216 _ 1

34058022604. ¥ ~



Question Number : 12 Question Id : 3405805652 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For which of the following numbers. the two’s complement of the number 1s the
number itself

Options :

34058022605, v 10000000

34058022606, * 00000001

34058022607, * 10000000

34058022608, » 11111111

Question Number : 13 Question Id : 3405805653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the simplification of the following expression
HX Y. Z)—00+ YHX +Y 57)

Options:

34058022600, % F(X- Y. Z)=X+YZ

34058022610, v EOL- Y, Ly=Y +.XZ

34058022611, (X Y, Z)=Z+XY



34058022612, # F(X. Y. Z)=X+Y +Z

Question Number : 14 Question Id : 3405805654 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Simplify the following function where D is a don’t care function
F(W, X, Y,Z)=%(0, 1,3,5,9, 11)

D(W.X.Y,Z)=%(2.4. 8, 10)

Options:

34058022613, ® F(W.X.Y.Z)=X+ W'Y

34058022614, * F(W.XY.Z)=X'+ W'Y

34058022615, # F(WXY.Z)=X'"+WY'

34058022616 ¢ FOW.X.Y.Z) =X+ W'Y’

Question Number : 15 Question Id : 3405805655 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A four-variable logic function F(A.B.C.D) equals to 1 1f input A 1 identical to mput B
and if mput C 1s different from input D. Function F(A.B.C.D) can be written as

Options :

34058022617, % £ AB.C.D)=2(4.7)



34058022618, » FAB.CD)=X(8.11)

34058022619, v F(A.B.C.D)=11(0.3.4.5.6,7.8,9.10.11.12.15)

21058022690, # FAB.C.D)=T1(0.1.2.3.5.6.10.11.12.13,14.15)

Question Number : 16 Question Id : 3405805656 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following diagram represents a finite state machine which takes as input a binary

number starting from the least significant bit. Which one of the following 1s TRUE

0/0 0/1

Options :

It computes 1°s complement of the input number
34058022621. #

ap Vo p ) Wk )
34058022622, ¥ It computes 2°s complement of the input number

34058022623, % 1t mcrements the input number

34058022624, % It decrements the input number



Question Number : 17 Question Id : 3405805657 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The characteristic equation of a JK flip flop is

Options :
34058022625, * QMexH) =JQ +K'Q

34058022626, % Qext) =JQ'+K'Q'
34058022627, » QeEXH =JQ'+KQ

34058022628, v QEXt) =JQ'+K'Q

Question Number : 18 Question Id : 3405805658 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the minimum number of gates required to implement the Boolean function
(AB + C) 1f we have to use only 2-input NOR gates
Options:

34058022629, % 2

il

34058022630. ¥

34058022631. ¥ 4

34058022632, %



Question Number : 19 Question Id : 3405805659 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The minimum number of D flip-flops needed to design a mod-258 counter is

Options :

34058022633, % >12
34058022634, % 2358
34058022635, ¢ 9

34058022636. ¥ 8

Question Number : 20 Question Id : 3405805660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A digital computer has a memory unit with 32 bits per word. The nstruction set
consists of 350 different operations. All instructions have an operation code part
(opcode) and an address part (allowing for only one address). Each instruction 13
stored i one word of memory. How many bits are needed for the opcode and how
many bits are left for the address part of the instruction

Options :

34058022637, % ! tor opcode and 25 for address part

34058022638, * S for opcode and 24 for address part



34058022639, ¥ 9 for opcode and 23 for address part

34058022640, * 10 for opcode and 22 for address part

Question Number : 21 Question Id : 3405805661 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A disk drive has 8 surfaces. each surface has 1024 tracks, each track has 64 sectors,
and each sector can hold 512 bytes. What 1s the capacity of disk

Options :

518 .
34058022641, % 2 DYles

10 :
34058022642, % 2 DYtes

520 .
34058022643, % 2 DYtES

428 :
34058022644, v 2 DYtes

Question Number : 22 Question Id : 3405805662 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If the virtual memory size is halved. the number of entries in the page table

Options :

34058022645, % Lcreases by one



34058022646, » DecTeases by one

34058022647. ¥ Stays the same

34058022648, ® Doubles

Question Number : 23 Question Id : 3405805663 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The execution time which is used to measure performance includes

Options :
34058022649, % Elapsed time for system

34058022650, * CPU time taken by operating systems programis

2 T #1 ? o ; z 3 z
34058022651 ¥ CPU time taken by user programs only

34058022652 % CPU time taken by compiler programs only

Question Number : 24 Question Id : 3405805664 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A variable x with value 0x01234567 will be stored in four consecutive bytes, in
little endian format as

Options :



67, 45,

I~
ad

34058022653, ¥ , 01

) ;
34058022654. * 01.23.

e
:Jl
[y
|

67. 45. 01,

-2

(S ]

34058022655. #

R y
34058022656, # 01.23.67.4

Lh

Question Number : 25 Question Id : 3405805665 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The limiting factor m instruction level parallelism is

Options :
34058022657, % Storage

34058022658, % MEMOry Space

34058022659 % CPU Resources

_ o
34058022660, v Dependency

Question Number : 26 Question Id : 3405805666 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A CPU has 24-bit instructions. A program starts at address 300(in decimal). Which
one of the following is a legal program counter (all values in decimal)
Options :

34058022661. # 400

34058022662. # 500

34058022663. ¥ 600

34058022664. # 700

Question Number : 27 Question Id : 3405805667 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many 32K X I RAM chips are needed to provide a memory capacity of
256Kbytes

Options :

34058022665. * 8

32

i

34058022666. *

34058022667, ¥ 04

34058022668, % 128

Question Number : 28 Question Id : 3405805668 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
A CPU generally handles an interrupt by executing an interrupt service routine

Options :
34058022669, * BY checking the interrupt register at the end of the fetch cycle

By checking the mterrupt register after finishing the execution of the current instruction
34058022670, ¢ - : :

34058022671, % By checking the interrupt register at fixed tume intervals

34058022672, % AS soon as an interrupt is raised

Question Number : 29 Question Id : 3405805669 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Suppose we have the following declaration in C:

int a[100]:

Which of the following expressions does not represent a[20]

Options :

Flat
34058022673. ¥ (a+20)

34058022674, % (&a[18])+2)

34058022675, ¢ (&a[10])*2)

34058022676, % (&a[1072]))



Question Number : 30 Question Id : 3405805670 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the following C-program print

#include<stdio.h>
void main() {
char c[ ] ="ABCD2016":
char *p =c:
printf("%s ". p + p[3] - p[1]) :
j

Options :

34058022677, * AB2016

34058022678. * ABCD

34058022679, v CD2016

-
34058022680. * 2016

Question Number : 31 Question Id : 3405805671 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



There 1s a tree where the left subtree contains 1000 nodes, and the right subtree
contains 100 nodes. For preorder, morder, and postorder traversals, how many nodes
are processed before the root

Options :
34058022681, v 0. 1000. 1100

34058022682, * U- 100. 1000

34058022683, * 0. 1000. 100

34058022684, * 0. 1100, 1000

Question Number : 32 Question Id : 3405805672 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Suppose that we have numbers between 1 and 1000 in a binary search tree and
want to search for the number 363. Which of the following sequences could NOT
be the sequence of nodes examined

Options :
34058022685, # 2. 252.401. 398, 330. 344, 397. :

T
[}
LS ]

34058022686. # 924. 220, 911, 244, 898. 258, 362,

%)
oy
)

34058022687, ¢ 923. 202, 911, 240, 912, 245, 363

34058022688, # 925,202, 911, 240. 910, 245, 363



Question Number : 33 Question Id : 3405805673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Consider the following definition in C language

struct
{
mt data:
struct node™® next:
| &
typedef struct node NODE:
NODE *ptr:

Which of the following C statement is used to create a new node

Options :
24058022689, » P = (NODE®)malloc(sizeof(NODE)):
34058022690, % PIT= (NODE*)malloc(NODE):
34058022691, % PT = (NODE*)malloc(sizeof(NODE*)):
2405802260, % P = (NODE)malloc(sizeof(NODE)):

Question Number : 34 Question Id : 3405805674 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What 1s the infix version of the following postfix expression

X12+L1T N+ 5+

Options :
34058022603, * X T12+Z)/(17+Y * 42)

34058022694, ¥ X T 12+Z/17+Y * 42

34058022605, ¥ X T12+Z/(17+Y) * 42

34058022696 ¢ T 12+ 2/ ((17+Y) * 42)

Question Number : 35 Question Id : 3405805675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which one of the following array represents a binary max-heap

Options :

puoss0sacer x [25-12.16.13.10. 8. 14]

sa0s8099c0g. % 125, 14.13.16, 10, 8, 12]

34058022699 v 123.14.16.13.10. 8. 12]

2a058099700, % 125, 14,1213, 10. 8. 16]

Question Number : 36 Question Id : 3405805676 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Evaluate ( 00001000 & 11000101 )~ ( 11110000 )

Options :
34058022701, * 00000000

34058022702, % 11111111
34058022703, % 00001111

34058022704, v 11110000

Question Number : 37 Question Id : 3405805677 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The initial configuration of a queue 1s a, b, ¢, d (‘a’ 15 m the front end). To get the
configuration d. c. b. a, one needs a minimum of

Options :

34058022705, * 2 deletions and 3 additions

34058022706, # 3 deletions and 2 additions

34058022707 ¢ 3 deletions and 3 additions

34058022708, % 3 deletions and 4 additions

Question Number : 38 Question Id : 3405805678 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
At most, how many comparisons are required to search a sorted vector of 1023

elements using the binary search algorithm
Options :

34058022709, ¢ 10

34058022710, % 15

-2
=

34058022711. %

b
=

34058022712. %

Question Number : 39 Question Id : 3405805679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Suppose T(n) =2T(n/2) + n. T(0) =T(1) = 1. Which one of the following 1s false
Options :

34058022713, * 1) =0@"2)

34058022714, * (1) = ©(nLogn)
34058022715, * 1(M) = O(nLogn)

— ‘1N
34058022716, v 1) =Q(1n"2)

Question Number : 40 Question Id : 3405805680 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the running time of the following code fragment
for(int 1=0: 1=<10; 1++)

for(int j=0: j<N; j++)

for(int k=N-2; k<N+2: k++)

cout <<i<<""<<j<<endl:

Options :

34058022717. ¢ O(N)

r
34058022718. * 0{10‘7 N)

34058022719, * O(N log N)

34058022720, % OWNY)

Question Number : 41 Question Id : 3405805681 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s useful in traversing a given graph by breadth first search
Options:

34058022721, * Stack

34058022722, % Set



34058022723, % LISt

34058022724, v QuEUE

Question Number : 42 Question Id : 3405805682 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sorting algorithms has the lowest worst-case complexity
Options:

34058022725, * Merge sort

34058022726, * Bubble sort

34058022727, % Quick sort

34058022728, ¢ Selection sort

Question Number : 43 Question Id : 3405805683 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following keys are inserted in a hash table (in the given order) with 7 slots
(indexed from 0 to 6) that using linear probing and hash function h(k) = k mod 7: 4.
11,5,12,6

In which slot the key value 6 1s stored

Options :

34058022729. ¢ 1



34058022730, % 4
34058022731. ¥ 5

34058022732. % 6

Question Number : 44 Question Id : 3405805684 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about Dijkstra's algorithm is not true
Options :

34058022733, » Dijkstra's algorithm is a greedy algorithm

34058022734, % 1018 used to solve single-source shortest path problem for directed graphs

34058022735, 1115 Used to solve single-source shortest path problem for undirected graphs

34058022736, ¢ It can be used on graphs with negative edge weight

Question Number : 45 Question Id : 3405805685 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The maximum number of trees that can be formed with three unlabeled nodes 1s

Options :

34058022737 % 1



34058022738, ¥ J

34058022739, % 4

-

34058022740, # 2

Question Number : 46 Question Id : 3405805686 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of edges in a regular graph of degree d and n vertices 1s
Options :

34058022741, * Maximum of n. d

34058022742, * N +d

34058022743, * 0d

34058022744, v 1d/2

Question Number : 47 Question Id : 3405805687 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one the following in place sorting algorithms needs the minimum number of
Swaps
Options:

34058022745, % QUICK-sOrt



34058022746, % 1Sertion sort

34058022747 % Selection sort

34058022748, v Heap sort

Question Number : 48 Question Id : 3405805688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Dynamic programming strategy of algorithm design 1s used when
Options:

34058022749, % We need an optimal solution

g i : T " y -
34058022750, ¥ The problem has overlapping subproblems

34058022751, The problem has non overlapping subproblems

3405802275, 4 solution faster than greedy method 1s required

Question Number : 49 Question Id : 3405805689 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a and b are regular expressions, then (a Ub ) is equivalent to

Options :



34058022753, v (@ UD)

34058022754, % @ U2)

(bUa)
34058022755, #

34058022756, % \a Ub)

Question Number : 50 Question Id : 3405805690 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true
Options :

If a language is context fiee it can be always be accepted by a deterministic push-

34058022757, % down automaton.

34058022758, v Lh€ union of two context free language is context free

34058022759, % The intersection of two context free language 1s context free

_ The complement of a context free language is context free
34058022760. * e

Question Number : 51 Question Id : 3405805691 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



mhm-'-n

The language {a | mn <1} 1s

Options :
34058022761, % Regular

34058022762 v Context-free but not regular

34058022763, % Context sensitive but not context free

34058022764, % Type-0 but not context sensitive

Question Number : 52 Question Id : 3405805692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Context free languages are not closed under

Options :

34058022765, % UNION

34058022766, % © oncatenation

34058022767, ¢ Complementation

34058022768, % Kleene closure

Question Number : 53 Question Id : 3405805693 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is in Greibach normal form
Options :

34058022769, ¥ ~x —~ YZ

34058022770, ¢ & X

34058022771, % ~  YX

34058022772, % -~ XXY

Question Number : 54 Question Id : 3405805694 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following CFG 1s ambiguous

Options :

34058022773, v S — 0S[S0[0

34058022774, % S — 0SO|1S1|0[1]e

34058022775, * S — 0S1|01

34058022776, * S — SOS0S|1

Question Number : 55 Question Id : 3405805695 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following regular expression over {0.1} denotes the set of all strings
not contamning 100 as a substring

Options :

34058022777, » 9 (1F0)

34058022778. # 01010

34058022779. # 0101

34058022780. ¥ 0(10+1)

Question Number : 56 Question Id : 3405805696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Consider the following languages :
L1 = {ww|wefab}*}
L2 = {wn® | w e {a.b} *w" is the reverse of w} )
Yoo . .
L3 = {07"|iis an integer}
L4 = {|iis an integer}

Which of the languages are regular

Options :

34058022781, » Only L1 and L2

34058022782 % Only L2. 13 and 4



34058022783, v Only L3 and L4

34058022784, ¥ Only 3

Question Number : 57 Question Id : 3405805697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The proof of pumping lemma for regular languages 1s based on

Options:
34058022785, v 1geon hole principle

34058022786, * Lieration

~ Recursion
34058022787. %

34058022788, * Probabillity

Question Number : 58 Question Id : 3405805698 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Examine the following DFA

0 '.:fg:,. it 1
.-n. A) :L: D I}
REGLY,
g

If the mput 1s 011100101, which edge of the automaton 1s NOT traversed

Options :

34058022789. # =

34058022790. ¥ B

34058022791. ¥ C

34058022792, % D

Question Number : 59 Question Id : 3405805699 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A pattern associated with a token can be easily specified using

Options :
34058022793, v Regular expression

34058022794, % Finite-state automaton

34058022795, % Push-down automaton



34058022796, % Turing machine

Question Number : 60 Question Id : 3405805700 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A token can be easily recognized using a

Options :
34058022797, * Regular expression

34058022798, « Flnite-state automaton

34058022799, # Push-down automaton

_ Turing machine
34058022800, # =

Question Number : 61 Question Id : 3405805701 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A table constructed by LALR parser 1s called

Options:
34058022801 % Predictive parsing table

34058022802, % INon-predictive parsing table

34058022803, v LALR(1) parsing table



34058022804, % Parsing table

Question Number : 62 Question Id : 3405805702 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a top-down parser

Options:
34058022805, ¢ Recursive descent parscr

34058022806, * OPerator precedence parser

34058022807, * AN LR(k) parser

24058022808, » - LALR(K) parser

Question Number : 63 Question Id : 3405805703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is First (S) for the following grammar
S — ABc
A —ale

B —Dble

Options :

34058022809. *



{a. ej

1
34058022810, % {b. &

{c.gj

34058022811. #

a.b. c}
34058022812. ¢ t :

Question Number : 64 Question Id : 3405805704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is Follow (A) for the following grammar

S — ABc
A —ale

B — ble

Options :

34058022813, % 1)

1
34058022814. # {bJ

34058022815. # {C}

T
34058022816, ¥ LP-C]



Question Number : 65 Question Id : 3405805705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the value of a variable gets increased or decreased by a fixed amount on every iferation

of a loop. then the variable is called

Options :

34058022817, % Invariant variable

34058022818, ¢ Induction variable

34058022819, % Static variable

34058022820, % Incremental variable

Question Number : 66 Question Id : 3405805706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Peephole optimization is a form of

Options :

Loop optimization
34058022821, % pop :

34058022822. ¢ Local optimization

34058022823, % Constant folding

34058022824, » DAt tlow analysis



Question Number : 67 Question Id : 3405805707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In an expression, 1f an exponent operator 1s replaced by multiplication operators, the
optimization is a form of

Options :
34058022805, « Constant folding

Streneth reduction
34058022826. ¢ <

34058022827. % Copy propagation

34058022828, # Elimination of dead variables

Question Number : 68 Question Id : 3405805708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An LALR(1) parser for a grammar G can have shift-reduce (S-R) conflicts if and
only if

Options :

34058022829, % The SLR(1) parser for G has S-R conflicts

The LR(1) parser for G has S-R conflicts
34058022830. ¥



34058022831, % The LR(0) parser for G has S-R conflicts

34058022832, % The LALR(1) parser for G has reduce-reduce conflicts

Question Number : 69 Question Id : 3405805709 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The grammar A —AA |( A)

e 15 not suitable for predictive-parsing because the

granunar 1S

Options :
34058022833, v “Abiguous

34058022834, % Left-recursive

34058022835, % Right-recurisve

34058022836, % An operator-gramimar

Question Number : 70 Question Id : 3405805710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statement 1s true
Options :
The value of the counting semaphore variable is the number of processes or threads

34058022837, ¢ that are to be allowed 1nside the critical section.



 One example of a hardware solution to the critical section problem is a monitor,
34058022838. *

34058022839, » Reliability is one of a CPU scheduling criteria

If a user-level thread blocks for /O, all the other user-level threads belonging to the

34058022840, % SAIE PrOCess have to block.

Question Number : 71 Question Id : 3405805711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The removal of a process from active contention of CPU and reintroducing them mto

memory later is known as

Options :
34058022841, % LMCITUPL

34058022842, ¥ Swapping

34058022843, * Signal

34058022844, * Multiprogramming

Question Number : 72 Question Id : 3405805712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The producer-consumer problem refers to



Options :
34058022845, * E Operation (wait). but no corresponding V operation (signal)

34058022846, « Multiple clients and servers accomplishing a computation

34058022847, ¢ The need for synchronization in systems where many processes share a resource

~ Computation speedup
34058022848, *

Question Number : 73 Question Id : 3405805713 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With the FIFO page replacement policy. and enough space for storing 3 page frames.
the memory page reference string ‘ABCABDDCABCD’ would produce

Options:
34058022849, % > Page faults

34058022850. ¥ 6 page faults

34058022851, # 7 page faults

8 page faults
34058022852, v © PAE

Question Number : 74 Question Id : 3405805714 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Consider the following set of processes

Process | Arrival Time | Burst Time
F 0 6
G 2 3
H 3 2
I 7 5

the waiting time for shortest job first is

Options :

34058022853. * 2.3

34058022854. ¥ 4

34058022855. % 1.75

"
34058022856. # 3.25

Question Number : 75 Question Id : 3405805715 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A typical way to overcome starvation of lower-priority processes in a priority-based

scheduling system 1s to

Options :
34058022857 ¥ Change a process priority with its age

34058022858, « Stictly follow the given process priority



34058022859, % Reverse the priority order

24058022860, * LEHOTE priority of a process

Question Number : 76 Question Id : 3405805716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Any solution to the critical section problem must satisfy the following three criteria

Options :
34058022861 * Disabling mterrupts, Test And Set instruction. and Semaphores.

34058022862, % Request, Use And Release.

34058022863, * Mutual exclusion, No preemption. and Circular-wait.

Mutual exclusion. Progress. and Bounded waiting.
34058022864 ¥ = =

Question Number : 77 Question Id : 3405805717 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To provide a solution to dining philosopher’s problem with n philosophers dining, how

many semaphores are required

Options :

34058022865, % 11



34058022866, * D1

34058022867, ¢ 2

34058022868, ¥ 3

Question Number : 78 Question Id : 3405805718 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A situation where several processes access and manipulate the same data
concurrently and the outcome of the execution depends on the particular order in
which access takes place 1s called

Options :

34058022869, # Data consistency

34058022870, ¥ Starvation

34058022871, % AgINg

Race condition
34058022872, ¢

Question Number : 79 Question Id : 3405805719 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The resource allocation graph below
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Options :

34058022873, « Contains a cycle, but 1t 1s not deadlocked

34058022874, * Contains a cycle and it is deadlocked

34058022875, # Contains no cycles and is not deadlocked

34058022876, % Contains no cycles and is deadlocked

Question Number : 80 Question Id : 3405805720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Three file descriptors associated with every Linux process are
Options :

34058022877, % Standard input, Standard output. and Standard pipe



34058022878, v Standard input. Standard output. and Standard error

34058022879, » Standard input, Standard output, and Standard deviation

34058022880, * Standard input. Standard output. and Standard terminal

Question Number : 81 Question Id : 3405805721 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true

Options :

24058000851 % £ column name in the entire relational database must be unique.

2405800088, % L any relational database. an entity must be related to another entity.

34058022883, A relation (table) can have duplicate records.

24058022884, v 12 relational database, every relationship must be supported by a foreign key.

Question Number : 82 Question Id : 3405805722 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

E-R model uses which symbol to represent a weak entity set

Options :

34058022885, % Dotted rectangle



34058022886, * Dlamond

T ! - ol
24058022887 « DOubly outlined rectangle

34058022888, % Dotted Diamond

Question Number : 83 Question Id : 3405805723 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If X->YZ. then X->Y and X->Z are true; this rule 1s called

Options :
34058022889, # Reflexive rule

34058022890, * Augmentation rule

34058022891, ¥ DECDIH]}OSHIDH rule

~ Transitive rule
34058022892, #

Question Number : 84 Question Id : 3405805724 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Suppose relation R(A.B.C.D.E) has the following functional dependencies

A-B
B—>C
BC—>A
A-D
E—-A
D—>E

Which of the following is not a key

Options :

A
34058022893. *

34058022894, # E

34058022895. ¢ B.C

34058022896. # E

Question Number : 85 Question Id : 3405805725 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following four expressions of relational algebra 1s not equivalent to the other
three. They are all based on the relations R(A.B) and S(B.C). Indicate which 1s not
equivalent to the others

Options:

mtir (R D4 S)
34058022897. # 8



R > mg( S
34058022898, # B( ‘)

34058022899, % X O (AR X 75(3))

Tt RxS
34058022900, ¥ 45 )

Question Number : 86 Question Id : 3405805726 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Suppose relation R(A,B) currently has tuples {(1.2), (1.3). (3.4)} and relation S(B.C)
currently has {(2.5). (4.6). (7.8)}. Then the number of tuples in the result of the SQL

query:

Select *
From R Natural Quter Jom S;

1S

Options :

34058022901, ¥ 2
34058022902, ¢ 4

34058022903. # S

34058022904. ¥ 6



Question Number : 87 Question Id : 3405805727 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are TRUE about an SQL query

P: An SQL query can contain a HAVING clause even if it does not a GROUP BY clause
Q: An SQL query can contain a HAVING clause only 1f it has a GROUP BY clause

R: All attributes used in the GROUP BY clause must appear i the SELECT clause

S: Not all attributes used in the GROUP BY clause need to appear in the SELECT clause

Options:

34058022905, % P and R

34058022906, v P and S

34058022907, * Qand R

34058022908, * Qand S

Question Number : 88 Question Id : 3405805728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The changes made by one transaction are not visible to other transactions till the
commut point. This property s called

Options :

34058022909, v 130lation



34058022910, » Durability

34058022911, % AtOMUCILY

34058022912, * Comsistency

Question Number : 89 Question Id : 3405805729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is ensured by a two-phase commit protocol
Options :
The “growing” phase of a transaction t completely precedes the “shrinking™ phase of

34058022913, % e fransaction t

34058022914, Deadlock do not occur.

Transactions 1n a distributed database provide all-or-nothing atomicity. just like

34058022915, « ansactions in a single-site database.

34058022916, % All sites in a distributed database commit at exactly the same instant.

Question Number : 90 Question Id : 3405805730 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Consider the following actions

Transaction 1
Transaction 2
Transaction 3

Commit:

Rollback:

What does Rollback do

Options :
34058022917, v INO action.

34058022918, % Clears all transactions.

34058022919, # Redoes the transactions before comumit.

34058022920, % Undoes the transactions before commit.

Question Number : 91 Question Id : 3405805731 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Consider a B+ tree in which the maximum number of keys in a node is 5. What 1s the

minimum number of keys in any non-root node

Options :

34058022921, % 1

34058022922, ¢ 2



34058022923, # 3

34058022924, % 4

Question Number : 92 Question Id : 3405805732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following routing protocol uses Dijkstra’s algorithm
Options :

34058022925, v OSPF

34058022926, % RIP

34058022927. % BGP

34058022928, % 15-IS

Question Number : 93 Question Id : 3405805733 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In CRC, 1f the size of divisor 1s 10bits, then what 1s the degree of the generator
polynomial

Options:

34058022929, ¢ 9

34058022930, * 10



34058022931, % 11

34058022932, % 12

Question Number : 94 Question Id : 3405805734 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a valid IP address

Options :
34058022933, # 192.168.50.10

y G o | f
34058022934, * 172.16.8.4

34058022935, # 10.25.45.16

34058022936, v 192.168.50.08

Question Number : 95 Question Id : 3405805735 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The size of address in IPv6 1s
Options :

~16

34058022937. ® =

~32
34058022938. # =



~64
34058022939, # <

~128
34058022940. ¥ =

Question Number : 96 Question Id : 3405805736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
InTCP

Options :

34058022941« SCIVEr starts the connection by opening a connection i listen and accept mode

34058022942 % Client starts a connection in request mode

34058022043, % Server sends the message to client to open a connection

- . -l . o n 7
34058022944 # Client requests the server to Opc<1l a Message

Question Number : 97 Question Id : 3405805737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Routers and switches are different because

Options:

24058022045,  Routers operate at the Network Layer. while switches operate at the Datalmk Layer



34058022046, * Switches operate at the Network Layer, while routers operate at the Datalink Layer

34058022047 % Routers are for wired networks, while switches are for wireless networks

34058022048, * Switches are for wired networks, while routers are for wireless networks

Question Number : 98 Question Id : 3405805738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Simple mail transter protocol (SMTP) utilizes as the transport layer protocol for

electronic mail transfer
Options :

34058022949, ¥ DCCP

34058022950, * UDP

34058022951, v 1CP

34058022952. * SCIP

Question Number : 99 Question Id : 3405805739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A technique referred to as a is a mapping achieved by performing some sort

of permutation on the plamtext letters



Options :
34058022953, « Liansposition cipher

34058022954, * Polyalphabetic cipher

34058022955, % Caesar cipher

34058022956, » Monoalphabetic cipher

Question Number : 100 Question Id : 3405805740 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1s the protection of transmitted data from passive attacks

Options :
34058022957, % Access control

34058022958, * Data control

34058022959, % Nonrepudiation

34058022060, v Confidentiality

Question Number : 101 Question Id : 3405805741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Digital Signature 1s



Options :

34058022961, % Scanned Sigllﬁtlll'li‘ 011 computer

34058022962, % Code number of the sender

34058022063, * Public key encryption.

34058022964, v Software to recognize signature

Question Number : 102 Question Id : 3405805742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the type of coupling when one module interacts with another by passing it's local

data values to another as parameters

Options :

34058022965, v Dala

34058022966, % COMMON

34058022967, % StAMP

34058022968, * Content

Question Number : 103 Question Id : 3405805743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which model should be preferred if delivery time is less
Options :
34058022969, * Frototype Model

34058022970, % Classical Waterfall Model

34058022971. ¢ RAD Model

34058022972, * RUP Model

Question Number : 104 Question Id : 3405805744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the shape used to represent function or process in DFD
Options :

34058022073, v Ellipse

34058022074, % Square

34058022975, % Open Rectangle

34058022976, * Polygon

Question Number : 105 Question Id : 3405805745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Class and Object Diagrams are defined in which of the perspectives
Options :
34058022977, v Structural

34058022978, % lmplementation

34058022979, * Behavioral

34058022980, * ENvironmental

Question Number : 106 Question Id : 3405805746 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SRS 1s also known as specification of
Options:
34058022981 % White box testing

34058022982, # Stress testing

34058022983,  Lntegrated testing

34058022984, « Black box testing

Question Number : 107 Question Id : 3405805747 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The feature of the object oriented paradigm which helps code reuse 1s
Options :
34058022985, % OPJECt

34058022986, * Class
34058022987 « 1nheritance

~ Agoregation
34058022088, ¥ = =° S

Question Number : 108 Question Id : 3405805748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider an online shop for books. Which of the following 1s not a functional requirement

Options:

34058022089, * 1he system shall allow the user to search for books by author and title

34058022990, * 1he system shall provide a list of all previously ordered books to the user

34058022991 « Lhe system shall support mmimum 1000 transactions per hour

,' ,' v ,' . .y F,. e P : E ~ F
34058022992, % The system shall allow the user to remove books from the shopping cart at any moment

Question Number : 109 Question Id : 3405805749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The tests that run during the project development or before a programmer checks in
any changes to the global repository are normally characterized as

Options :

24058022993, ¥ Regression tests

34058022994, % Integration tests

34058022995, * Validation tests

34058022996, % System tests

Question Number : 110 Question Id : 3405805750 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For the flow graph shown below the cyclomatic complexity 1s
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Options :

34058022997, ¢ 3



34058022998. * 4

34058022999. # S

34058023000. * 5

Question Number : 111 Question Id : 3405805751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main purpose of integration testing is to find

Options :
34058023001, * Design eIrors

34058023002, * Analysis errors

34058023003, # Procedure errors

34058023004, ¢ Interface errors

Question Number : 112 Question Id : 3405805752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the correct HTML formulation for creating a hyperlink

Options:

34058023005, * ~a name="http://www.qualitypointtech.com"> Qualitypoint Technologies </a>



34058023006, v ~a href="http://www.qualitypointtech.com"> Qualitypoint Technologies </a>
34058023007 % —a= Error! Hyperlink reference not valid.>

24058023008, % 3 url="http://www.qualitypointtech.com"> Qualitypoint Technologies </a>

Question Number : 113 Question Id : 3405805753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What does the following subpattern in XML schema mean

<xs:pattern value="[A-Z]{4}]"/>

Options :
4 or more Upper casc characters

340580230009. *

34058023010, % 4 or less UpPPEr casc characters

34058023011, ¥ Exactly 4 upper case characters

4 or more lower case characters
34058023012, %

Question Number : 114 Question Id : 3405805754 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentence 1s not true about JSP



Options :

34058023013, * JSP only accepts HTTP requests.

34058023014, « ISP, we can override the service() method.

~ In JSP. we cannot override its service() method.
34058023015, #

34058023016, # 11 JSP session management is automatically enabled

Question Number : 115 Question Id : 3405805755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the Transport method in SOAP
Options :

34058023017, v HITP

34058023018. # FIe

34058023019. # POST

34058023020, ¥ RMI

Question Number : 116 Question Id : 3405805756 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



WSDL document does not use the following element in the definition of network

SEIVICES

Options :

34058023021, % oIt Type

Messenger
34058023022, ¢ =

34058023023, % POIt

34058023024, % OPETAtION

Question Number : 117 Question Id : 3405805757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of these is not the rule m XML

Options :
34058023025, « ‘Al attributes of an element must be enclosed within quotes

_ Tags should not overlap
34058023026, ¥ ~©

34058023027, ¥ TﬂgS are not case-sensiuve

34058023028, % 1A4gS Must be closed

Question Number : 118 Question Id : 3405805758 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not one of the three types of nodes in the DOM’s node tree
Options :

34058023029, v Reference

34058023030, % Element

34058023031, * LEXt

34058023032, * Aftribute

Question Number : 119 Question Id : 3405805759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements define a JavaScript array

Options :

34058023033, # ar Xt = new ‘511‘1‘31“?:”“111”‘"l'x_jll'l"_”ji]]]”

24058023034, % VAT IXU=1EW Array: 1="tim")2=("kim")3=("j1m")

ar txt = new Array("tim","kim","jim")

34058023035. ¥

34058023036, % VAL txt =new Array(1:"tim",2:"kim",3:"jim")

Question Number : 120 Question Id : 3405805760 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a method in the Servlet interface
Options:

34058023037. # destt %% 0

34058023038. ¥ create()

34058023040, + t(ServietConfigju



